
 

 

WTA-SLM 

Wedgetail Accessory Light Mount Bracket Fiƫng InstrucƟon 

  

WTA-SLM_Fiƫng_Rev2 Updated  

Updated: 1 Oct 2024 
COPYRIGHT TRADESMAN ROOF RACKS |WEDGETAILRACK.COM.AU 

CongratulaƟons on the purchase of your Australian made Wedgetail Roof Rack product. 

Please read and follow the instrucƟons carefully to ensure correct fitment. 

Contact us if any parts appear missing, incorrect, or damaged. 

Contact us if any quesƟon about the size of plaƞorm to ensure the correct fitment 

1 

2 

3 

4 

5 

Tools Required: 

· Hex key (5mm)        · Spanner (13mm) · Drill Bit (5mm & 9mm) 

Kit Content 

WTA-SPB Solar Panel Bracket 

M8 Flat Washer 

M8 X 22 Dacro Black 

M8 Channel Nut 

8mm Nyloc Nut 

x2 

x2 

x2 

x2 

x2 



 

 

WTA-SLM 

Wedgetail Accessory Light Mount Bracket Fiƫng InstrucƟon 

  

WTA-SLM_Fiƫng_Rev2 Updated  

Updated: 1 Oct 2024 
COPYRIGHT TRADESMAN ROOF RACKS |WEDGETAILRACK.COM.AU 

 

1 · Secure the mounƟng bracket to the top of the plaƞorm using the M8 
Black dome head and the M8 unit provided in the kit.  

· Once the bracket is secured you can now mount your Light 

NOTE-Ensure the channel nuts are 90 degrees to the channels. 

Check fastenings are firmly tensioned at regular intervals. 

Do not overƟghten, this will preserve the spring washers. ! 

Thank you for your purchase.  

Wedgetail by Tradesman Roof Racks  

InnovaƟon through InspiraƟon 

 ! · This guide provides detailed instrucƟons for fiƫng the mounƟng bracket either on the top of a 
plaƞorm,  on the underside of a crossbar and underside of the side bar without any exisƟng 
holes . You may choose the opƟon that best suits your installaƟon needs.  

 Top Mount 

 

2 · Remove the M8 Black dome head bolt leaving the channel nuts  
in the crossbar.  

· Now place the bracket in posiƟon and Ɵghten it with the M8 
bolt you removed.  

· Once the bracket is secured you can now mount your Light 

MounƟng to the underside of the crossbar 

 

3 · Decide the desirable posiƟon of the light mount 

· Now drill a 5 mm pilot hole and step it up to a 9mm hole.  

· Place your bracket into posiƟon and Ɵghten with the M8 Black 
dome head and the M8 washer and Nyloc nut.  

· Once the bracket is secured you can now mount your Light. 

MounƟng to the underside of the sidebar without any exisƟng holes 


